| Chapter I BEHUERY - 33 EIEMHATH 5 > % o 2

19 TAXWY  {EATHERE

& | fi & Jb g JE i Wz > x v 7
| gERRE | v = 7 | @ # CEE g | v = 7 | ® #
% ha % ha
S & 100.0 55,400 it &' & 100.0 55,400
1 & & & 100.0 55,400 1 + i 44.0 24,400
2[ AR -V 7 40.1 22,200
3| E n 6.1 3,370
" g X
con  wERmE e = o1 Lo
6| A 5] 2.1 1,170
T = pi| 11 620
8| 1& th 0.6 336
9 sl B 0.5 289
0] & ] 0.4 194
11 E = 0.2 134
12| 4 = 0.2 116
13| H = 0.1 38
Ny oKz % v 7 ABE~604D)
i | wEHE | g | @ # | wETHE | g | @ #
ha ha
i & B @ FR=V7 3,240 31 & B H7 FR=V7 424
2 W EF W FR=V7 3,190 32 E F M FR=V7 418
3) & K™ + s 3,030 33| 18 A = A7 % & 405
4 F E O + s 2,960 34| & ¥ T L] I 393
5] K = H FR=V7 2,790 3B LERBAE £ n 316
5| ¥ = om0+ B 2,790 | & E A& # 301
18 2 oW AE-v7 2,770 TR S A IR 291
8| /N E K HT FR=V7 2,730 38| B F E AT #I B 289
9 = R FR=V7 2,270 9 E B i} I 282
9 & Bl Hr + s 2,270 401 & W HT £ n 257
1 = )] #& + s 2,130 411 A g H AT L I 255
2] % 2 m FR=V7 2,110 20 B & # #*® & 223
3 T 8 0N + s 1,890 43 = & fT % & 210
4 E w B+ B 1,440 Bl E B OB+ B 210
15| # ok B+ B 1,270 I A & 196
16 & L " AN + s 1,130 46| = & AT FR=V7 176
7 = 5 Hr + s 1,070 A S | B + n 175
18 B B &+ B 1,050 48| # 18 T+ B 174
191 % ®m @ £ ] 980 9 5 RIR® = g 172
20| 2 H AT + s 886 49 @ (= H = pi| 172
21f =2 R fr FR=V7 740 51 & # W i ik 160
22( A F /AT FR=V7 720 52| PERFMH £ n 134
23] ¥ B v & ¥ 670 53| % B & 125
24| £ £ 1% T + s 656 54| M E R M £ n 123
250 £ B @ £ M 618 55 &= R AT £ 5 112
260 & B\ & + 5 518 56| E R #B HT & W 110
21 B R B W £ M 493 57 T A A L5} 106
28| KX B E B 464 58 m % Bl BT % & 101
29 B =® M + s 434 59| m M AT = pi| 97
[ £ = MM AR =V7 433 60| #x B T FE=V7 87

.39_



[ 1 B
Bz HETR % H g5 | ® i

ha

60| & L W7 FTHE—=v7 87
62 % F M + I 85
63 T H b T Jil=! R 73
64 4 % B A 5 68
65| = M % B+ i 56
66 Ex R® i I 55
67 £ A HT ) pail 48
68| f1 = &+ i 47
69 e B M Jil=! = 34
700 H 0w H Jil=! R 33
71 A H HT ) patl 32
72 x B @ = patl 29
73 A i1} ) pall 25
4 £ f E % o 18
74 oL @A B 2 18
76 - & O H7 % & 17
T E b = patl 14
A= = T = 5 14
17 = i g ) 0 14
801 & I b = pall 11
81| % # ® 1% % 9

¥

.40.

v

7 (60hL~81h1)



| Chapter I BEHUERY - 33 EIEMHATH 5 > % o 2

20 TAZIW s

oS T 1 B | A S I |
et | BERRE | v = 7 | W #® B
% t
£ [E5| 100.0 3,545,000
1] 4 & & 100.0 3,545,000
% 1) ,Hij) iﬂ!ﬁsu%u@
[T S %
=0 HEHE | s | x % B
t
1 W OE ™ FHR=v7 231,500
2 Jt bl FER=v7 223,200
3 A 5E K ET FHR=v7 213,900
4 X = HT FER=v7 208,900
5 # 2 HT FHR=v7 198,600
6 I TN + B 193,900
7 Z B + B 181,400
8 T = iy + B 170,600
9 ES A FHR=v7 152,200
10 EF B g FHR=v7 151,800
1) = 8 B+ B 142,300
12 & 8 &+ B 120,100
13 + R + B 111,700
14 s A mA + B 78,200
15 £ B O H + I 75,600
16| ® ® B+ B 73,000
17 B ok HT + B 69,200
18 &= @ mE + s 57,400
19 B B W + B 56,600
20 ==l g FHR=v7 47,500
21 6 m #  + B 47,400
22 I F AT AT FHR=v7 46,500
23 F ®m 0 =) 53 38,700
24 + 5l bl + I 38,100
25 + + g Er + B 34,200
26 ER®m + I 32,000
27 & 35 H®y + s 28,200
28 B 5l g FHR=v7 26,700
29 B B B FHR=v7 25,800
30 g 7 g FHR=v7 25,700

EY

- 41 -

%z > * > 7
LA g | v = 7 | m ® =
% t
it &' & 100.0 3,545,000
I I M N 44.4 1,573,000
2l + s 40.3 1,428,000
3| E n 6.6 234,100
4 & & 1.9 68,600
5| & E5) 1.9 67,600
6| B i 1.9 67,000
T = El 1.2 43,800
8| sl b 0.5 18,300
9 & ik 0.5 17,500
0] & ] 0.4 13,300
11 R = 0.2 6,060
12| & 5 0.2 5,560
13| H [ 0.0 1,720
v 7 (hE~6001)
| wETHE | - BENE
t
31| & & = f7 % & 22,900
2| X @ B+ s 22,700
33| LERBE + n 21,800
¥ B OF M + s 21,300
3B =& T i} I 18,500
6| & W Bk i 18,400
sl 2 7B AT A = 18,300
B B E A A& # 16,500
9| mEmomE B i 15,200
40 # ] % & 13,700
411 M8 Ji + n 13,100
20 F# E W i} = 12,900
B &ERR® = pi| 12,800
4 52 8 H % & 12,500
45 B HE M i} I 12,400
46 @ (= B z pi| 11,800
471 = & % & 11,200
48 &= B M FR=V7 10,100
49 PEREFH + n 9,500
50 % 5 M7 + i 9,080
51| & R H7 + i 8,590
52 & = M i ik 8,580
53| & B m B # 7,770
54) T Bt & #” 7,030
55 ® MR AT = pi| 6,700
56| &% F @ + n 6,490
57( mE R M + n 6,390
58 & L FR=V7 5,540
59 = & B fy % & 5,510
60| B R ®ET il 5,450




[ 1 B
Bz HETR % H 5 | W & B

t

61 Fos g iy = 5,280
62| & B ™ FTHE—=v7 4,970
63 = A A a b5i 4,120
64| = HE W7 + I 3,880
65| E R X HY + J 3,850
66 T H b HT Jil=! = 3,750
67 £ A HT ) pail 3,210
68| M =T H + I 3,020
69 x B @ = pall 2,330
70 A H HT ) pall 2,100
71 e B M AB iR 1,910
72 A e HT = patl 1,630
73 = B H Jil=! = 1,350
T4 E b = pall 1,210
75 oL B oA & & 1,100
76 H* M iy % & 961
77 - & O H7 % & 890
78 = i HT ) patl 880
79 & I b = 0 758
80| m B ® A 5 737
81 # # % & 527

¥

.42.

v

7 (61HE~81h1)



| Chapter T B - FEL(EMHATH 5 2 %y 7/

21 TAIWV  10a¥72Y s

4 6 fi & b i JE fE oo > F o 2
It | BERRE | W & et | s g | W e
kg kg
& 3] 6,400 it &' & 6,400
1 & & & 6,400 Il #%k—=v7 7,090
2 = N 7,070
3| k M 6,950
p "
o) i) 1004 7= Y IR g a s
8,000 ¢ 5 - '
' 6| + s 5,850
N A ¥¥ 5,790
8| % 7 5,770
9 MR = 5,210
10| f& th 5,200
11 BB i 4,860
12| B = 4,540
4,000 13| & 5 4,160
0
oM 7 ® 7 Ai~60hD)
i | wERE | g | W B M| wETHE | g | W B
kg kg
i ® N @ z= Bl 8,490 31| & B AT R A 6,420
2l £ MW ® z= Bl 8,170 20| ® K W + s 6,400
3| /B KT FTHR=V7 7,820 320 R ® M = pi| 6,400
I S )i 7,710 I A & 6,370
5] & &F 0H £ M 7,600 3| ® L H R A 6,360
6] K = M FTHR=V7 7,490 35| E B + s 6,360
L4 I [ £ M 7,480 37| B F E AT #I b 6,330
8 & R R ™ z= Bl 7,450 38 & B HT R A 6,300
9 MW £ W FTHR—=V7 7,260 39| ® B AT + s 6,280
0 & 2 fr FTHR=V7 7,200 40| ® WL HT = pi| 6,260
11 & M H £ M 7,170 411 £ B W + ]l 6,160
12| & g§] M 2 #5 7,160 2] &8 F H R A 6,140
2 2 FTHR=V7 7,160 43| B F & % & 6,120
4| T ERIFHE £ M 7,100 B3 7 B O + s 6,120
4 = R Hfr £ M 7,100 B3 F F O + s 6,120
16 = A H 2 E 6,910 46| 40 W B oA £ # 6,080
16| AL mAH + B 6,910 al % 5 ®m A # 6,040
18 M 1’ = Al 6,890 48| A & 4 E E| iR 5,970
18 LER %A £ M 6,890 9 &£ & M B R A 5,950
200 & R @ FTHR=V7 6,880 50| # # % & 5,870
200 @B 1= H ) Bl 6,880 51 + m A E5) 5,770
0 ®w xm )i 6,880 52| # B H AK—V 5,720
23 = & T FTHR=V7 6,710 53| & B My R A 5,710
24 B NI @ z= Bl 6,670 54 (B & = Hy % & 5,650
25 & B ® z= Bl 6,630 55| & O HT i} i 5,640
26 5T A a b 6,620 56| = E el 5] 5,470
27| R H AT z= Bl 6,580 57( & % &Y Hr % & 5,450
28 B R B W £ n 6,490 57( & &k HT + s 5,450
29| A0 & M £ ]l 6,460 57 & @& H + B 5,450
290 A F WM FrR=V7 6,460 60| B & f + s 5,380

.43_



[T T S
MBfr | wETHA s g | El

ke

60 4« 3B HI + s 5,380
62| & <« W g il 5,370
62| #H M T % & 5,370
64 t H HE + s 5,350
65| =® & HT % & 5,330
66| & & @ a b5 5,290
67| + 1% HET + s 5,240
68| Lt + 1R AT + i 5,210
68| # B m + s 5,210
68| b AZ E HT R = 5,210
71l = & 3o H7 % & 5,200
71| mEREAE £ n 5,200
3 L Hh b E B8 i 5,110
123 ) + o 5,090
75 E SR & HET Ui il 4,940
% B OF A + s 4,900
7Kk B HT + B 4,890
8 H & H H 5] 4,720
9 & ¥ A RB Ei 4,710
80| 7= 7 HT @ il 4,690
8l f# 2% Lz} iR 4,440
8 B =B @ Ll iR 4,390
83| #& 3] pis g 4,210
84| H B H Ll iR 4,120
8| L E H + s 4,080

- 44 -

v

7 (60hL~85h1)



